Seat No.:

Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering - SEMESTER-I (CtoD) « EXAMINATION - SUMMER - 2014

Subject Code: C310501
Subject Name: Physical Analytical and Inorganic Chemistry
Time: 02:30 Pm - 04:00 pm

Instructions:

Date: 29-12-2014

Total Marks: 70

1. Attempt all questions.
2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. | Question Text and Option
Which of the following is NOT a laboratory safety rule?
A You should never mix acids with B You should tie back your long hair
1. " | bases '
c You should never add water to D All of the above are valid safety rules
" | acids '
What piece of laboratory equipment is best-suited for accurately measuring the volume
9 of a liquid?
" | A. | graduated cylinder B. | beaker
C. | Erlenmeyer flask D. | none of the above
Which piece of laboratory equipment can be used to store chemicals for long periods
3 of time?
" | A. | burette B. | evaporating dish
C. | beaker D. | solution bottle
“Qualitative results” refer to:
A Results that can be observed B Results that are difficult to observe
4, " | during an experiment. " | during an experiment.
C Results that require numerical D | none of these is correct.
" | data. '
A homogenous material is defined as being:
An element Any material with uniform
5 | A B. o
composition
C. | Synonymous with “solution” D. | More than one of these
An example of a chemical property is:
6. | A. | density B. | mass
C. | acidity D. | solubility
“Exothermic” processes:
7. | A. | Absorb energy B. | Give off energy
C. | Have no energy change D. | impossible to predict the energy change
Intrinsic properties are properties that:
A Don’t depend on the amount of B Depend on the amount of material
8. " | material present. " | present.
c Cannot be measured without D None of the above is correct.
" | performing a chemical reaction. '
What is the density of an object with a volume of 15 mL and a mass of 42 grams?
9. |A. |0.352g/mL B. |2.80g/mL
C. |630g/mL D. | None of the above is correct.
Which of the following is one of Dalton’s laws?
10. | A. | P=Pi+P; B. | P=P;-P,
C. |P=P;XP; D. |P=P,/P,
11. | Equation of state for Ideal Gas
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A. | PT=NRV B. | PV=NRT
C. | PR=NVT D. | None of the above is correct.
Boyle’s law
12. | A. | PV=K B. | PK=V
C. |PT=V D. | PK=T
How many electrons does iron have?
13. | A. | 26 B. |30
C. |56 D. | It depends on the isotope of iron
Refractometer measures
14. | A. | Mass index B. | Volume index
C. | Percentage index D. | Refractive index
Which force is acting during physical adsorption
15. | A. | Compressive force B. | Incompressible force
C. | Wandervaal’s attraction force D. | Tensile force
Which type of orbital looks like a figure-8 when drawn?
16. | A. | s-orbital B. | p-orbital
C. | d-orbital D. | f-orbital
Which of the following typically has a low melting point?
17. L A._| metals B. | nonmetals
C. | metalloids D. | transition metals
Which element has the largest atomic radius?
18. | A. | fluorine B. | carbon
C. [tin D. | iodine
Cations have:
19. | A. | Positive charge B. | Negative charge
C. | No charge D. | All of the above
The chemical name for Fe,Os is:
20. | A. | iron oxide B. | iron (Il) oxide
C. | iron (111) oxide D. | iron (VI) oxide
N,S3 is properly named:
21. | A. | nitrogen sulfide B. | nitrogen (I11) sulfide
C. | nitrogen (I1) sulfide D. | none of these
How many grams are there in 2.1 mole of sodium?
22. 'A 483 gm B. [0.0913 gm
C. |11gm D. |0.011gm
The symbol (s) after a chemical compound let you know that is
23. | A. | Soluble in water B. | Insoluble in water
C. | ASolid D. | Non of the above
The reaction between water and carbon dioxide is known as
24. | A. | Synthesis reaction B. | Combustion reaction
C. | Single displacement reaction D. | Double displacement reaction
Which compound is not polar?
25. | A. | Ammonia B. | Nitric acid
C. | Methane D. | Non of the above
5 mL of 0.15M NaCl is diluted to final volume of 5 L , what will be final concentration
26. | of NaCl?
A. | 0.00015 M B. | 0.0015M
C. | 15000 M D. |15M
In adiabatic process
27. |A. |AH>0 B. |[AH<O0
C. |AH=0 D. |[AH=-1
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Reversible process is

28. | A. | Very fast B. | Veryslow
C. | Allways stable D. | Non of the above
Following is an extensive property

29. | A. | Melting point B. | Density
C. | Mass D. | Conductivity
1 mole ideal gas at 0° C and 1 atm contains

30. | A | 22 litre B. | 22.4 litre
C. | 22.1 litre D. | 227 litre
Potential energy is denoted by

31. | A. |vgh B. | pgh
C. | mgh D. | pph
For exothermic reaction

32. |A. |AH=0 B. |AH<O
C. |AH>0 D. | Non of the above
Unit of heat capacity

33. |A |call’C B. | Cal/mole
C. | Callkg D. | Cal/vol
If Asystem + Asurrounding > 0

34. | A. | Reaction will be spotaneous B. | Reaction will not be spotaneous
C. | No reaction D. | Non of the above
Following instrument is used for determination viscosity

35. | A. | Spectro viscometer B. | Refracto viscometer
C. | Chromatograph D. | Red wood viscometer
Unit of viscosity is

36. | A. | Noise B. | Loise
C. | Poise D. |Joule/°C
Formula of glucose is

37. | A. Celeoe B. C2H403
C. C3H1004 D. C4H1204
Unit of rate constant for first order reaction

38. | A. | Time™ B. | Mole.lit™.time™
C. | Mole.lit.time D. | Mole.lit
What is the role of catalyst in chemical reaction?

39. | A. | Not take part in reaction B. | Take part in reaction
C. | Used to slow the reaction rate D. | Non of the above
Colloidal solution consist of

40. | A. | Two phase B. | One phase
C. | Three phase D. | Four phase
Tindal effect is due to the

41. | A. | Light reflection B. | Light scattering
C. | Light refraction D. | Light absorption
Heat of evaporation of water is

42. | A. | 6.71 kcal/mole B. | 9.71 kcal/mole
C. | 3.71 kcal/mole D. | 1.71 kcal/mole
The rate equation —dA/dt = KA, where negative sign indicates

43. | A. | Concentration of A increases B. | No change in A
C. | Concentration of A decreases D. | Non of the above
The reaction between HCI and NaOH always give

44. | A. | Salt B. | Sugar
C. | Salt and Sugar both D. | Non of the above
Which one is not strong acid?

45. | A. | HNO; B. | HCI
C. | H,SO, D. | CH;COOH
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Unit of conductivity is
46. | A. | Titan B. | Siemens
C. | Feraade D. | Ajanta
Unit of resistivity
47. | A. | Mho.cm B. | Ohm.cm
C. | Mho/cm D. | Ohm/cm
Following process is known as disinfection process for water
48. | A. | Sedimentation B. | Absorption
C. | Adsorption D. | Chlorination
Following equation is used for volumetric analysis
49. | A. | PV =nRT B. | NiVi =NV
C. P1V1 = P2V2 D. N1P1 = szz
Molecular weight of NaOH is
50. | A. | 50 gm/mole B. | 30 gm/mole
C. | 20 gm/mole D. | 40 gm/mole
Which formula represents a salt?
51. | A. | KOH B. | KCI
C. | CH;OH D. | CH;COOH
Which solution will change red litmus to blue?
52. | A HCI (aq) B. NaCI(aq)
C. | CH3OHq) D. NaOHaq)
What is the pH of a 0.00001 molar HCI solution?
53. |A. |1 B. |19
C. |5 D. |4
A battery consists of which type of cells?
54. | A. | electrolytic B. | electrochemical
C. | electroplating D. | electromagnetic
Which type of reaction is occurring when a metal undergoes corrosion?
55. | A. | oxidation-reduction B. | neutralization
C. | polymerization D. | saponification
In what kind of cell are the redox reactions made to occur by an externally applied electrical
current?
56. A. | galvanic cell B. | chemical cell
C. | electrochemical cell D. | electrolytic cell
When a substance is oxidized, it
57. | A. | loses protons B. | gains protons
C. | acts as an oxidizing agent D. | acts as a reducing agent
In a chemical reaction, a catalyst changes the
58. | A. | potential energy of the products | B. | potential energy of the reactants
C. | heat of reaction D. | activation energy
When a catalyst is added to a system at equilibrium, a decrease occurs in the
59. | A. | activation energy B. | potential energy of the reactants
C. | heat of reaction D. | potential energy of the products
A proton has approximately the same mass as
60. | A. | aneutron B. | a beta particle
C. | analpha particle D. | anelectron
The temperature levels in a nuclear reactor are maintained primarily by the use of
61. | A. | shielding B. | moderators
C. | coolants D. | control rods

Which particle cannot be accelerated in a magnetic field?

62. | A. | alpha particle B. | neutron
C. | beta particle D. | proton
Compared to the charge and mass of a proton and an electron has
63. | A. | same charge and a smaller mass B. | an opposite charge and a smaller mass
C. | same charge and the same mass D. | an opposite charge and the same mass
64. | Which solution is the most concentrated?
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1 mole of solute dissolved in 1 liter

A. of solution?

B.

6 moles of solute dissolved in 4 liters of
solution?

c 2 moles of solute dissolved in 3
' liters of solution?

D.

4 moles of solute dissolved in 8 liters of
solution?

What is the total number of moles of H,SO,
H,S0,?

needed to prepare 5.0 liters of a 2.0 M solution of

65. "a. T50 B. [25
C. |10 D. |20
The heat of fusion is defined as the energy required at constant temperature to change 1 unit
mass of a
66. A. | gastoa liquid B. | solidtoagas
C. | gastoasolid D. | solidto a liquid
A solid is dissolved in a beaker of water. Which observation suggests that the process is
67 endothermic?
" | A. | The solution gives off a gas B. | The temperature of the solution decreases
C. | The solution changes color D. | The temperature of the solution increases.
What Kelvin temperature is equal to 25°C?
68. | A. | 248K B. 100 K
C. | 298K D. | 200K
An acidic solution could have a pH of
69. | A |7 B. |10
C. |14 D. |3
Which substance can be classified as an Arrhenius acid?
70. | A. | HCI B. | LiOH
C. | NaCl D. | KOH
*hkkkkkkkhkikikikikk
ajesAcll
ol | ust duer [@Aseu
Yool A dlol Qan ol Astiniel sl otell?
ARS WA ABR3 AsA s _ _
1. |A B. | alctal Wwevnall euotedll cuoll ativial
algl
C. | ARsHi well GRR4 o8l D. | GURell oluly UAHAetl [l B
Yalldle] s& AA2 A dudl W2 YaAollleg $3 ALl cduAA &2
2. |A. | ¥Bd s arjunt B. |olls?
C. | s\elsd scurs D. | GuRuiell A¥a el
clotl A Yol AR AS scl HIZ sl Ulboto(l %32 Ud B,
3. |A. | oRe B. | sQURRal (335
c. |olls? D. | Aot tllecd
sjeladiysd ulReuH Aed
Yol gRllel ¥ URFRUH Yallol £22dlet B URQUH otell Had
A. B.
guHlA 8 A a
4. -
Yol E12lal % HQQLU-U-U
C. |uissisla vdAoll «3Raud | D. | Guniell A¥2L o8l

ala A

5/11




AHDL UeldA 58 A cuvaul@d 31 asiae

Al UELD ¥ BUl dasle] ymIal

5. |A. | Ues B.
AYHWRL sl
C. |salagell vala D. | GURHIY A8 sl AU sl
AURUR S dpRIe] GElERNL 52
6. |A. |dotdll B. | scalMlet
c. | AR D. |slcdl
Gulus ylsal Wed
A. | GuHle] 2l™eL &g B. | GuHl Geug acll
" , ML Al sleciato(l wougl scl
C. | GuUHL sl8uRL %12 of Udl | D.
Y5 B
Soglo{ls o[t
olaR ¥l UELdofl HIU UR 6laR ¥l UELdoll HIAL UR AR
A. B.
8. ULUR AWA o1l AW &
AW s ulsau sal corR GuHil AFA 18l
“ il astdl otell >
15 mL $€ Aol 42 grams scAHlol URlclcl UELdoll dotcll decll?
9. |A. |0.352 g/mL B. |2.80 g/mL
C. | 630 g/mL D. | GuRHil A% o8l
o(lAsttiell 520 siceotall [Aan B.
10. |A. |P = P,+P, B. |P=P,-P,
C. |P=PXP, D. |P=P/P,
uled aly waral wHls:wa
11. |A. | PT=NRV B. | PV=NRT
C. | PR=NVT D. | GuHigll A¥A o8l
Al A
12. |A. |PV=K B. | PK=V
C. |PT=v D. |PK=T
e Hl S2cll BAsSl A B?
13. |A. |26 B. |30
C. |56 D. | wlotell WBSAAU UR AU B,
Adsselallexedl 9 il asta 82
14. | A. | HIA 835 B. | $€ 8035
C. |eslaldl 8adsu D. | A3sdla 8ads
15. | elllAs w@NuQHi 53 v cldl B.
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A. | eso{la s

B. |ueoo{la e

C. | dlosRalc st oo

D. | WuRin

ol Actitiell 8 Bl 25l Butdl 58 seis B?

16. |A. |s - 585 B. |p- s&s
C. |d- s&s D. |f- 585
ol Aetitiell slof dlctatlolg e &2

17. |A. | g B. | utld
C. | M8t g D. | 2leAxast tld
o(lAell sl Uesoll Ml Bl cuR 8.

18. |A. | sARsl B. | slolet
c. |3lat D. | w0 3et
$eladot ol AottHigdl 9 ua B?

19. |A. | Het @R B. | QL GUR
C. |aR (Aldet D. | GURell oluly
Fe,0, o AAAUGS ol

20. | A. | el AsUBS B. | alal(ll) AsUSS
C. | AEat(Ill) AHSASS D. | aal(vl) AsUBS
N,S, of ollis20l g B7?

21. | A | olle2losel UCKLES B. | oll&2losat (I11) ACKLES
C. | ales2losel (11) UCHLES D. | Gunill A3 o1&l
ASauHatl 2.1 WA GRAKUR B2l AU UA?

22. A 1483 gm B. [0.0913 gm
C. |11gm D. |0.011 gm
Ueldoll ot ugdl (S) sl 9 eala B?

23. | A | Wl alex B. | WMl walct
C. | ot ueld D. | GuHigll A¥A o8l
ULl el stolot slllsuss A Al ulsal sl oA L B?

24. |A. | aRa Yz B. | €sat ulsal
C. | yauH UAd ulsa D. |G ulAdd ulsaun
o(lAsttuiell s ueld yclla oiefl?

25. | A. | AR B. |ous@s ARs
c. | Rt D. | GuRHidl ¥ o8l
5 mL S2CL 0.15M NaCl o 5L Yl alcl 5l tlotcll sladloll AUisdl edl

06 | UA?

A. ]0.00015 M B. [0.0015 M
C. | 15000 M D. [15M
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sl ylsa me

27. A TAH>0 B. |AH<O
C. [AH=0 D. |AH=-1
ylQadl ulsau R
28. |A. | volx »sUl sla B B. |voy Il &la &
C. | &R RAR aa ® D. | Gunill A¥A o1&l
o(l Aot Ml 520 o[t HISUeHs o[ B?
29. | A. | alcdtet [Gg B. | ®lotcll
C. | saclHlet D. | sl
0° C cllUMlol Aol 1 atm €6 1 Wt vedae] s€ daeq ala?
30. A [221itre B. | 22.4 litre
C. | 22.1 litre D. | 22.7 litre
RAQ Gl Aotl gl ealctadi v B
3L TA vgh B. | pgh
C. | mgh D. | pph
Gu&us ylsal 12
32. |A. [AH=0 B. |AH<O
C. |AH>0 D. | Gunill A3 «18l
GuH&Hloll AsH
33. [A [cal’c B. | Cal/mole
C. | Callkg D. | Cal/vol
8| Ay + Ayae > 0
34. | A | ylsa czie) 6 B. | ulbau raiey ot &2
c. |ulsal ot ad D. | GuRuiell A3 «18l
Ratotlcll ual M2 ol AsttHigll $3f Ultet GUANIML MA &?
35. | A. | AAsglglel [Aslle? B. | 3ysel [QasiHle?
C. | s\n2lous D. |35 ds [Aslle?
Relotclloll AsH 9 B?
36. |A. | olleR B. | A&
C. | W8 D. |Joule/°C
o 5l0se] el YA g B?
37. A. CeH12054 B. CoH40s
C. C3H1004 D. C4H1204
yauH sHe(l 12@s ulsa 12 ulsal €2 AN AsH
38. A [Time™ B. | Mole.lit™.time™
C. | Mole.lit.time D. | Mole.lit
AUAMG s Ysai Geluse st 9 B2
39. | A. | WlBauni ewdt Al «tell B. | WBauni ewdl A ®
c. |ulsau €2 uald ® D. | GuRuiell A¥A «18l
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$(AA alctaHl ¥ecll scl (3823) sl B.

40. |A. |2 scl B. |1 SCUL
C. |3 scl D. | 4 sl
o(lAsttiell sau ot 50 Bset wUR uxla B?
41. |A. | Uslale] URleldot B. | ustale uslalet
C. | uslale alseidst D. | Uslale] u(elalnel
welle(l ousdletatst Gut 3ecl
42. A [6.71 kcal/mole B. | 9.71 kcal/mole
C. | 3.71 kcal/mole D. | 1.71 kcal/mole
ylsal €2 A0l —dA/dt = KA Hi el [euell 9 olcdld ©2
43. [A. | A UELdo{l UigcttHl ail | B. | A Ueldo(l Aun Al
C. | A Ueldo{l Ulscttdi uatsl D. | Gunill A¥A o1&l
HCI el NaOH <2 Y5l Udl R 9 HA B?
44. | A, | Hls B. |ulls
c. | Hlg ol wis wua D. | Gunill A3 o1&l
o(lActtHiell 520 ARS oL ARS otel?
45. A" [HNO; B. [HCI
C. | H.S0, D. | CHsCOOH
AleSsclloll AUsH 9 B?
46. | A. | 2lBeet B. | @A
C. | %03 D. | A%l
WRUS Aol AsH 9 B?
47. 'A" TMho.cm B. | Ohm.cm
C. | Mho/cm D. | Ohm/cm
ueflal earysd sal 1 (Aol 58 uruld B?
48. | A. | AALES B. | ulelalval
C. | w@auy D. | scAll3Aat
sEUIUS Yeaus0l HI2 ol Actimill 52) wlls0 GUA2IHL wAB?
49. 'A [PV =nRT B. | NiVi=NVs
C. P1V1 = P2V2 D. N1P1 = szz
NaOH oll uRQJeR 32cl?
50. A" 150 gm/mole B. |30 gm/mole
C. | 20 gm/mole D. | 40 gm/mole
o{lAsttHill 520 weld &R d?
51. 'A TKOH B. [KCI
C. | CHsOH D. [ CHsCOOH
53 alalll AlA [@A2HA AURA ¢ ¢atlld B?
C. | CH30H D. | NaOHgg)
53. | 0.00001 HlAR HCI staRle(l pH 3ecll?
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A |1 B. [9
C. |5 D. |4
A3 saUl YsRell 5\Y URAA 8&?
54. | A. | sQs2AEls B. | (Qgd-uals
C. | sasgl@clol D. |([Qyd-Jusla
Ulgetl &Rl M2 58 AAUAMRS Ulsaul vAUHER B?
55. | A. | 353t (35530t B. | ctexedls:0l
C. | WdlHRjisRalet D. | Alu{s0QL
saul SIMHT wslRUl [Agdycate wdl 28let ulsal ax 8?2
56. | A. |dcdlds s\y B. | aa@ds s\
C. | @Qgd-wuals s\ D. | sasalclldls s\n
YR UELLo] WSAZ Aot AU B RUR
- A. | Ylet o[HIa & B. | Ul Ana &
C. ARSIl e 5 D. | Rsyallor Aoz A3 ad &
ad &
AAUAQ s ulsauHi Galus ceccttdl AL (el AA B?
58. | A. | olluxsoll RAMA Gt B. | UBasol RAQ Gt
C. |ulsauGw D. | alsas20 Gt
youloll Adeteat vareuul Gelus GRRall Al valsl al 8?
50. | A. | dZas20l Gt B. | ollucse{l RA(A Gt
C. | ulsauGwu D. | UBasol RAQ Gt
ol At Ml 520 des cdedl Yol B2d scuHlol URAA &7?
60. |A. | o32lel B. |ollel sa
C. | auesl sl D. | 8As2let
YA RAs2UL dluMietsall staill «{lAstniell slell sl ®?
61. |A. | @cslatl B. | Hls¥eR
C. |52 D. | So2lc AS
Jousla Axtul ol Actimiell s20 561 yaolold sl otell?
62. | A. | BUCSHL S B. |o32lal
c. | ollet sul D. | Wlet
QUR A geAHloto{l ARUUHRAHL Yelot A B8ASS WM $31a
6. A | AHlet GIR Al A qeaAMlol | B. | (A3t elR A scuMlot
C. A U2 A Wl D. | (A3tu euR UMlel scuHlel
GcA Hlol
64. | o(lAotHigll 53 ala@l AR Aigdialy B?
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1 ([@A2R alari 1 e sle

A. B. | 4 (@22 alclHl 6 H slcal UELS
uelel
3 (@2R alaRHl 2 WA glct ,
C. D. |8 (@22 alcRHi 4 WA glcd Ueld
ueLel
5 ([A2R 2M H,S0, of 4lall sletlalal HI2 H,SO0, oli decl Hcoll %32 ud?
65. A [5.0 B. [25
C. |10 D. |20
AsH geAHlol YRl UELZo] AN dlUHlel Al Alctatd it dRH AUl
Ueldo] AUl 3UldR awa?
66. , : : ,
A. | uiell yauglui B. | elotdigll AUl
C. | Auuiall eetni D. | dotHiell yetdlui
tlol Ueldal Wl el ollsul ounaHl 1A B, GuHiellns ylsau
gR12Ulol ol AottHiell 53] Wo0sRAUGA Hlall HO?
67. , : , ,
A. | slagHiedl A gl ud B B. | slallell cllUHLetHl «atsl AL ©
C. |slale] 20t URddet &A ® | D. | slalletl dltuHietHl aulR ad B
25°C cllUMlol HRLHR 32l 3(Cdol (K) UMl U
68. (A [248K B. [100K
C. | 298K D. [200K
ARBs alalell pH ¥l sl ay?
69. A 7 B. [10
C. |14 D. |3
(L AAHIYl 520 ARS A2 ARS A3 Wi B?
70. A THCI B. | LiOH
C. | NaCl D. | KOH
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